
©e z2S0f1z2q zKRu2taal YSiopfvtkwraJrkef EL2LvCj.D e 5AKlUlq 4rQi7gQh7tUsB NrIeOsae0rSvyeEdr.x C hMramdEek AwCi9tThN AI TnVf3i7n4iSteeO fAplFgZePbrrgaw 72E.x Worksheet by Kuta Software LLC

Algebra 2
ID: 1

Name___________________________________

  Period____Date________________
©z M2H0t1m2q eKbuptDa9 XSGoZfotkwzacrzeH cLeLQCK.Z 8 nAwl2l d SrEi ZgDhgtHsa Orke4sIenrevAeqdy.J
Assignment

Identify the vertex and axis of symmetry of each.  Then sketch the graph.

1)  

  

y = 

  

−
1
3

(

   

x − 4)(

   

x − 3)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

2)  

  

y = 

 

2

  

x(

   

x − 2)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

3)  

  

y = 

   

x(

   

x + 5)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

4)  

  

y = 

  

−
1
2

(

   

x + 7)(

   

x + 1)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-1-



©0 g2i0f1927 lK0uTtgaL uSqohfotIwlaDrTex 5LGL8CP.d h NAQlvlt JraiwgYhGtusv CrGedsbeIr4vLewdb.l d WMbayd7eX xwJiJthhG fI NnZf7iKnGi3tRe3 VAylPgpe6bQrcaL j2M.U Worksheet by Kuta Software LLC

5)  

  

y = 

 

(

   

x − 4)(

   

x − 2)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

6)  

  

y = 

 

(

   

x + 3)(

   

x + 2)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

7)  

  

y = 

   

−
1
3

  

x(

   

x + 2)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

8)  

  

y = 

 

−(

   

x − 6)(

   

x − 4)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-2-



©j i2W0f1X2D 6Kpu7thaF tSioSfKtkwmazrWer TLEL4C3.L x UAQlll8 GrHiEgyh4tOsi HriebsMe0rpvveRdV.Z 9 ZMiafdbe2 MwOiItBhb xI NnbfOi7nXiKtWee JA1lWgdemblr9aj A2J.f Worksheet by Kuta Software LLC

9)  

  

y = 

 

2(

   

x − 3)(

   

x − 2)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

10)  

  

y = 

 

−2

 

(

   

x − 6)2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

11)  

  

y = 

  

1
3

(

   

x + 7)(

   

x + 2)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

12)  

  

y = 

 

−(

   

x − 1)(

   

x + 1)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-3-



©j l210G1K2R DKuurtUaj sSAo1fXtswYagrAe4 2LkLtC1.2 4 wAjlSln urdikgghxtgsW IrIess5ePrRvxe9dT.F 9 wMhaKdoel cwNi5tohD zI MngfYiAnEi5tVeB nAslRgxejbRrPaO Q22.F Worksheet by Kuta Software LLC

13)  

  

y = 

 

2

  

x(

   

x − 1)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

14)  

  

y = 

   

x(

   

x + 3)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

15)  

  

y = 

 

−(

   

x − 6)(

   

x − 2)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

16)  

  

y = 

 

2

  

x(

   

x + 1)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-4-



©E x2x0Q1m2E EKVuvtmaj WSPo7fltkwIaXrwes pLALGCK.h L iAVlQl9 Ir1i4gdhMtpsE frcersRe2rPvyeKda.L L wM2aadbeI KwJijtUhx oI en7fSiSnXiVtReR AAplXgUeAb3rPar d2O.A Worksheet by Kuta Software LLC

17)  

  

y = 

 

−(

   

x − 5)(

   

x − 1)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

18)  

  

y = 

 

−2

 

(

   

x − 4)2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

19)  

  

y = 

  

−
1
2

(

   

x − 2)(

   

x + 4)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

20)  

  

y = 

 

2

  

x(

   

x − 4)

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-5-



©L 32Q0M1Q2u mKtumtiaH RSAo2fstLwWaXr1e9 XLDL0Cg.U y vAXlzlK 6rHiRgjhXtBsW trLe8sxenrkvseNdK.d R YMkavdLeB swpiWt2hu 0I FnxfDihnGigt3eU YALlQgUeTbvrBad B2n.W Worksheet by Kuta Software LLC

Algebra 2
ID: 1

Name___________________________________

  Period____Date________________
©S p2j0f1m2l RK3uEtYaR QSboLf ftww7aqrnec BLlLxCs.Q D AAWl9l x CrOi qgZhXtoso GrIeDslecrCv3e0du.W
Assignment

Identify the vertex and axis of symmetry of each.  Then sketch the graph.
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